Algebra II Test4.1 Class Review
Name________________
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Solve Each Quadratic Inequality [image: image8.png]
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Solution: ________________
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Solution: ________________
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Solution: ________________
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Solution: ________________
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Polynomials: Write all answers in STANDAR FORM[image: image19.png]
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Factor Completely [image: image32.png]
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Divide using Long Division [image: image43.png]
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Divide using Synthetic Division [image: image48.png]
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Determine if the binomial is a factor of the polynomial. [image: image55.png]
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Use synthetic division to evaluate the polynomial. [image: image60.png]
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Sketch a graph and describe each graph. [image: image65.png]
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